=0

,,'l IIIIIIIIIII ‘\
\‘ lllllllllllll -
U4

I

|

|

|

|

I N

|

I %

|

|

] C

|

|

I _

|

\

,"l IIIIIIIIIII ‘\
\‘ lllllllllllll -y
/

C P ——
é’_

’—--------------
-~
/
A .
) /-

’—-------------h
-~
M\
/- M\

’—-------------h
—
/
A
V| N



9 4
=8

,'l IIIIIIIIIII ‘\
\‘ lllllllllllll &y
U4
I
|
|
|
| L
|
I %
|
- <
|
|
i _
1
\
,"l IIIIIIIIIII ‘\
\‘ lllllllllllll -y
/4
I
|
|
|
“ A
|
1 $
|
e
=
3 _
(D)
i
a ,'l IIIIIIIIIII -
O

\\ lllllllllllll ’
/
]
|
1
1
1
1
1 4
1
- <
1
1
I _
1

\

,"l lllllllllll =
\\ IIIIIIIIIIIII l
/
]
1
1
1
1
A [C
1
1 4
1
1
1
1
1
I |
|

\

,,, IIIIIIIIIIII =
\\ IIIIIIIIIIII ll
/
]
1
1
1
1
1
1
1 4
1
“ N
1
: _
1

\

,,, IIIIIIIIIIII ‘\




56

— 416

— 89—
-6 2

IIIIIIIIIIIIIII

—Z 5
==

- - - -

IIIIIIIIIIIIII

— 83—
——

L 8 8 8 R N 8 % N N % % N 4




N
F"\

— LD
~~==71 - 60 -~
— T

\
,,'l IIIIIIIIIIII ,'l llllllllllll
\\ llllllllllllll \\\ ||||||||||||||
4 1
. 1
: 1
| "..W.._l
' “
1IN [ H ®
| m _
1 |
I : |
! N Lo
! 00
1 T
| I m —
: \
' \
\ /I ||||||||||||||
L ——
oy, \\\ llllllllllllll
1
: 1
! .
_ |
: O
i ™
i | |
I o
| “ -—
N
L) “----
=r _ -
e \
c-v.\. ’
=i M e ”
G0 P ——
O




~
-

71—
o2
- 9756 -
-

4

’—---‘

IIIIIIIIIIIIIII

\

lllllllllllllll

~
____§_~\

o1
— OO
188 8-
I —

4

- - - -

IIIIIIIIIIIIII

LN

N N N . . . .

i —,
—41—0
B7- 46 -
E— —

—--‘: _____________________:
,’

L 8 8 8 R N 8 % N N % % N 4

V)
=
3
(D)
—
d
O




— 318
=210

75 41 -
I —

N N N . . . .

L 8 8 8 R N 8 % N N % % N 4

Calcule




’—-------------~

retenues

Avec

l—------:------‘
—
iré

,'l IIIIIIIIIII ‘\
\\ IIIIIIIIIIIII l
/

]

|

|

|

|

i h N

|

14

|

|

|

|

|

I I

1

\

,,, IIIIIIIIIIII ‘\
\\ IIIIIIIIIIII Il
/

]

|

|

|

! L( \

|

14

“ NG <

I N

|

|

I I

1

\

,l, IIIIIIIIIIII ‘\



retenues

Avec

’—-------------~

’—-------------h
—
irlﬁ

’—-------------h
-~
if&

,, IIIIIIIIIIII ‘\
\\ IIIIIIIIIIII e
/
I
|
|
|
_ Nt
|
|
I %
|
I S
|
|
|
I _
1
\
,l, IIIIIIIIIIII ‘\



’—-------------~

)

===

"------:------‘
A
_/lﬁ

’—------:------‘
4



’—-------------~

IIIIIIIIIIIIII

F"s

/‘-ﬁ

=~

455
|
I —

- 90-87 -
——

4

R
1
’—- :

\




~
-y

I~ ()

v \J
—3J+F
- 684Y

—

IIIIIIIIIIIIIII

\

““2—-\

1672 228~
I —

4

- - - -

IIIIIIIIIIIIII

B
[
—

L 8 8 8 R N 8 % N N % % N 4




llllllllllllll

\
AN
\

IIIIIIIIIIIIII

~
——

=1 :

T4
—O 17
_ 76 - 48
——




